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All the questions are compulsory, Stwde™ Mhould write their Roll No. on the questions paper?

gUE—3  (Section—A)
AT — Uy W 1 R 10 7w R WA 1-1 3E K (Nole—Question No. 1 to 10 every question 1-1 marks)
Jem TEE T gm g5 F ad am wifan1 Using the Sutrn Fkadhiken Poorvena find the Square of RS,

;,, Afrw frfy' ) wpreers #1708 :  Subtract from Vaidic method -
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3. HfFE favram fafv g ss am 210 w0 weam smrrrts A
By using Euclid's division algorithm to find the H.C.F. of 55 and 210.

tandy © L fandf @
y ~ T 414 F1 Fifag Find the value of
cotd] ® votd |
5,/ tan’ 60° + Ycos’ 307 1 UM @ WAy Find the value of tan” 607 + 3 cos’ 3y

Ve
6, f=Zaf (2, 3) 3 (5. 6) & @a 77 20 9w aafm,

Find the distance between the pomt 12, 3 and (5, 6)
7. WE(EAT W) & "F“;’--m # fm @ fa=m ma fAfie s Find the locus of a edge of pendulum of wall clock.
Ry 77 #1 A a9 Fa w1 A fAfa Wrie the name of the longest chord of a circle.
?‘, UE g W w7 w ¢ om g w2 A I Dismeter of o circle is 7 em. Find its circumference.
10, %7337, 31, 42, 43, 46, 25, 39, 45, 42 W WTF 50 Fifa
Find the Median of distrnibution 37, 31, 42, 43, 46, 25, 19, 45 42
TTE—a (Nection—H)
T —W7H WA 11 W 20 AF UAE UUA 2 30 X (Nole—Question No. 11 to 20 ey ery question 2 marks)
1. @z faf (g om fafu) g a24s 1wy 3w 3k
Find the Square roor of 4225 by Vardic method (Dwandwa Yog)
b 8.9 0725 T s s fai gm A ST T W et am et
" Find the LOM and HOE of K, 9 and 28 by using pome Lactor method.
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A tower s vertically placed on a Horizontal Plane. [Fangle of elevation of the sun is 307 and length of Shadow

of tower i1s 45m then find the height of tower.
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The diagonals of yuadilateral bisevt each other, Prove thatitis 2 Parallegogram.
15. B m#ﬂHWABm*wwmmmﬂﬁQI
In figure find all four angles of cyclhic quadilaterg; A BCD.

16 w® 3R 0 W wlteh i wed v 3 o W i o fag 91 0 T RTE 13 W Aw qm #
5 ¥ R 1 Find the length of tangent drawn on the Circle from a point if the distance between centre to point is
13 em and mdius of circle is S em.,

17. amfa d IR ¥ LBAC = 80° O A LBCQ W wry 7 w1
Acconting to figure if ZBAC = 80" then find ihe value of ZBCQ.

I18. @& A = fr=n 10.5 el en fraararrs & w5 450 # @ oy FrEmTE AT T FE
Radius of circle is 10.5 cm and angle of the sector is 45°. Find the area of the minor sector of the circle.
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In throwing two dice find the Probability of getting sum of getting as 7,
20. tﬁst‘:ﬁﬁ'smﬂm3mﬁ?¥|mﬂﬁﬁﬁwﬁzﬂ-ﬂmﬁmmtmﬁwmthﬁz:
bag. One ball s randomly drawn. Find the probability that ball:

(1) FFZAW (is not white)

WIE—H (Section—C)
WMT—UPT WY 21 | 25 7% VAT WA 3 dswt {Note—Question Na. 21 10 25 every question 3 marks)
21 827,12, 17, ... 0 12 O G T i

/Find the sum of arithmatic progression 2,7, 12, 17, ... up to 12 teems.
;}' = e wdivem g 31 seraTg fafu & TAFAC: Solve the following pair of Linear equation graphically:

Abagcontains 5 Red and 3 white hall out of the
(h FFZE (is white)

X+y-6=0
41-2}'-4:(]
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Find the value of k in the following quadratic equation for which roots are real and equal.
hx(x~2)46=0
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Draw a circle of radius 3 cm. construct a pair of tangents from an exterior point 5 cm. away from its centre,
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T Fifag
A car moves with a speed of 50 km/hy. Itstopping 4 tance is $0m and its rate of retradation is 4.4 my Than
find the time of arrival. 8o e
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W smm T Fifag |
Find the slany height, curved surface area, total Surfuce 4pp, and volume of a cone whose base radius 7 cm anc

height 24 cm, respectively.

27 ﬁ‘:aﬂﬁl’q : Prove thay™ g?mﬁ-lﬂnﬁ
9 (OR)

| +sec®  sin‘0
fag Fifay . Prove that ; el 1—cosd
zﬁfﬂhﬁtﬁmmmﬁhﬂﬁt-z.n V(5. 4) %1 foems el T 203 F sr=: P wen € o

(22,200 |0, lﬁrﬁmﬁamﬁ%mé:mfﬁ%hiwﬁazvﬁmaﬁn
joining the points (-2, 1) and (5. 4) and also find the mic

Find the co-ordinate of the point when divides the lien

point of line joining (22, 20) and (0, 16).
29, fﬁzﬁfﬂquﬁﬁmfz\prﬁwgm%maﬁﬂém.ﬁgﬂﬁmﬁgmaﬁﬁmﬁﬁwiﬁfﬂmﬁ
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Ifa line is drawn parallel to one side of 4 triangle intersecting the other twa sides, then it divides the two side

on the same ratio.
Ut (OR)

fst wang fngar ABC 1 331 BC Wt w0 fag nmmfmthnu:%ﬂc.tﬁfﬂzm:

If D is the triscected point on the side BC of equilateral AABC such that BD = -::- BC, then prove that

9AD- = 7AB".

UF FHl #mﬁ%m‘mﬁqmﬁﬂﬁfzﬁm?lmwﬁmﬁﬁq:
Marks obtained by a students in a class are given in the following frequency distribution. Find their Median

oﬂmfm-znjzu-m 30-40 | 40-50
4 3 ] 42 20 6

Jvar (OR)
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With the help of assumed mean as 25. find the mean of the following frequency distribution
[ @1 (Class) 0-10/10-20)20-30 [ 30-40 ] 40- 50

AT (Frequency) | 6 10 13 7 4

uTATE (Marks)
Bl &1 |54 (No. of Students)






